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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.
3. Each question carries equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. Prepare Trading and Profit & Loss Account for the year ended
31* March 2015 and a Balance Sheet as on that date from the following
trial balance :—
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Particulars Debit | Particulars Credit
Amount Amount
(Rs.) (Rs.)
Stock on 1% April, 2014 32,000 | Sales less returns 2,20,000
Purchases less Retumns 76,000 | General Reserve 7,800
Wages 15,400 | Sundry Creditors 20,000
Carriage Inwards 2,600 | Capital 60,000
Carriage Outwards 1,500 | Mortgage and Interest to date 10,600
Salaries 27,000 | Rent Outstanding 1,000
Advertisements 25,000
Trade expenses 4,800
Salesman’s Commission 12,000
Establishment 5,400
Stable Expenses 2,100
Mortgage Interest 600
Sundry Debtors 40,000
Cash in hand 2,500
Machinery 72,500
3,19,400 3,19,400

Adjustments :
(i) Closing Stock was Rs. 41,000.

(i) Goods costing Rs. 5000 have been purchased and recorded in the books
but the goods were not received till 31* March 2015.

(i) Provision for doubtful debts be created on sundry debtors @ 5% and a
provision for discount on sundry debtors and creditors @ 2%.

(iv) A stationary bill for Rs. 200 remains unpaid and unrecorded.

(v) Advertisement includes Rs. 15,000 spent at the time of launching a new
product. It is the policy of the business to write off such expenses in 5
years.

(vi) A bill recevable (B\R) for Rs. 4,500 was discounted on 10* March 2015
but is due in May.

(vii) The Salesmen are entitled to a Commission of 10% of net sales.

(15)
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OR

The following is the Receipts and Payments Account of ‘V Club’ for the year
ended 31st March 2013 :

Receipts Amount | Payments Amount

(Rs.) (Rs.)

‘[ To Balance b/d 4,400 | By Salaries 44,000

To Subscription: By Furniture (Purchased on

2011-2012 1,500 1st January 2013) 10,000
2012-2013 96,000
2013-2014 500

To Entrance Fees 8,000 | By Sports Expenses 11,000

To Sports Fund 15,000 | By Drama Expenses 18,400

To Sale of drama tickets 24,000 | By Newspapers 2,500

To Sale of waste paper 150 | By Municipal Taxes 3,600

To Interest on Investments 1,350 | By Refreshments 32,200

By Lighting and Heating 6,000

By Medicines purchased ; 4,000

By Balancec/d 19,200

1,50,900 1,50,900

Prepare Income and Expenditure Account for the year ended 31st March 2013
and the Balance sheet as on that date, after taking the following information into
account :

(1) The Club has 200 members each paying an annual subscription of Rs. 500
and the subscription of two members is still in arrears for 2011-2012

(i) Stock of Medicines as on 31st March 2013 was Rs. 1,000.

(i) Municipal Taxes amounting to Rs. 2,000 p.a. have been paid upto 31st
December 2013.

(iv) Salaries are paid @ Rs. 4,000 per month.

PTO.
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(v) The other assets on 1st April 2012 were: Furniture: Rs. 40,000 and 9%
Investments Rs. 20,000.

(vi) Depreciate furniture @ 10% p.a. and provide upto date interest on
investments. (15)
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2. Mr. D consigned 100 cases of goods to Mr. L; the cost price of each case was
Rs. 100. The consignor incurred following expense in relation to consignment:
Railway Freight Rs. 1,750; Insurance Rs. 250; and Rs. 1,000 for Packing, 10
cases were destroyed in transit and insurance claim was settled for Rs. 500. L
took delivery of 90 cases and spent Rs. 600 on octori and carriage. He sold 60
cases @ Rs 150 per case. Included in 60 cases are 10 cases which have been
sold on credit to Mr. B. Subsequently only Rs. 800 could be recovered from Mr.
B. His selling expenses were Rs. 300. He remitted sale proceeds after deducting
expenses and commission at 10% on total sales including credit sales. Show
ledger accounts in the books of both parties. (15)

OR

A & B doing business separately as building contractors undertook jointly to
construct a building for a limited company for a contract price of Rs. 1,00,000
payable as Rs. 80,000 in cash in instalments and Rs. 20,000 in fully paid shares
of the company. A bank account is opened in their joint names A, paying

Rs. 25,000 ad B Rs. 15,000. They are to share profits and losses in the ratio of
2:1 respectively.
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The transactions were as follows :
Wages paid Rs. 30,000

Materials Consumed Rs. 70,000
Materials Supplied by A Rs. 5,000
Materials Supplied by B Rs. 4,000

Architects’ fees Rs. 2,000 paid by A.

The contract was completed and the price in cash and shares was duly received.
The joint venture was closed by A taking up all the shares of the company at an
agreed value of Rs. 16,000 and B taking up stock of materials at an agreed value
of Rs. 3,000. Show the Joint Venture Account, Joint Bank Account and the co-

venture’s accounts after final distribution and settlement of accounts. (15)
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3. (a) A Company had a balance of Rs. 4,05,000 on 1* January, 2013 in its
Machinery Account. 10% per annum depreciation was charged by diminishing
balance method. On 1# July 2013, the company sold a part of the machinery
for Rs. 87,500 which was purchased on 1% January 2011 for Rs. 1,20,000
as a part of it has become wuseless, and on the

same date i.e, on 1* July, 2013, the company purchased a new machine for
Rs. 2,50,000.

On 31* December, 2013, the Directors of the company decide to adopt the
fixed instalment method of depreciation from 1 January, 2011 instead of
diminishing balance method. The rate of depreciation will remain the same.

You are required to Prepare Machinery Account for the year ending 31
December, 2013.

(b) Explain briefly Going concern concept & Money measurement concept.
(10+5=15)
OR

P Limited sold three machines costing Rs. 10,000 each to Mr. F on hire purchase
system on 1.1.2014. Mr. F paid Rs. 6,000 on the above date to receive delivery
of the machines and agreed to pay five half-yearly instalments of Rs. 6,000 each.
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Mr. F could not pay the third instalment in time whereupon P Limited repossesses
one machine and Mr. F retained the other two machines.
The value of the returned machine was agreed to be cash price less 40%.

The purchaser charges depreciation @ 10% p.a. on reducing balance
method.

P Limited sold the repossessed machine for Rs. 4,500 on 31* December 2015
after incurring repairs of Rs. 200.

You are required to show :
(i) P Limited’s Account and Machinery Account in the books of hire purchaser
(i) Mr. F’s Account and Goods Repossessed Account in the books of P

Limited. (15)
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(a) L Limited sends goods to its Branch X at cost plus 25%. From the following

particulars, prepare Branch Stock Account, Branch Adjustment Account and
Branch Profit & Loss Account :

Rs.
Opening Stock at Branch (I.P) 5,000
Goods sent to Branch 20,000
Loss in transit at Invoice Price 2,500
Theft at Invoice Price 1,000
Loss in weight (normal) at invoice price 500
Sales 25,500
Expenses 8,000
Closing stock at branch at cost to branch 6,000
Claim received from insurance company for
loss-in-transit by Head Office 2,000
(b) Explain briefly the main objectives of accounting standards.
(11+4=15)

(F) L foifids, st arar X it o S 25% WA ST w2 1 ot Ry e =R
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5. (a) A, B & C are partners sharing profits and losses in the ratio of 4:3:2. Their
Balance Sheet as on 31-12-2015 stood as follows :

Liabilities Rs. | Assets Rs.
Sundry Creditors 20,000 | Cash 2,000
Bank Overdraft (Secured Debtors : 18,000
against stock) 15,000 | Less: Provision for (1,000)
Doubtful Debts 17,000
Loan (against the mortgage 25,000 | Stock 25,000
of machinery)
Capitals: A 20,000 | Machinery 40,000
B 10,000
C 3,000
Profit & Loss Account 9,000
93,000 93,000

The firm was dissolved on that date. Stock was taken over by the banker
and it realized Rs. 20,000. Bank paid back Rs. 4,000 after recovering its
overdraft and interest due thereon.

Machinery was disposed off for Rs. 24,000 and debtors realized Rs. 14,000
only. Loan was fully paid alongwith interest due of Rs. 1,000. Sundry
Creditors were discharged at 10% discount. Expenses amounted to Rs. 300
which was paid by A.

PTO.
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C became insolvent and only Rs. 950 could be recovered from his private
assets.

Prepare necessary ledger accounts to close the books of the firm assuming
that the required cash was brought in by the partners to make the final
payments.

(b) Briefly explain Graner vs. Murray Rule. (12+43)

(F) A, B 99 C 9BER ¥ @0 F9W: 4:3:2 D FUE X AN-BT ToT TR
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C 3,000
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93,000 93,000
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